Question 1:
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How many times does the control unit refer to memory
when it fetches and executes an indirect addressing mode
instruction if the instruction is (a) a computational type
requiring an operand from memory; (b) a branch type.

What must the address field of an indexed addressing
mode instruction be to malke it the same as a register
indirect mode instruction?

An instruction is stored at location 300 with its address
field at location 301. The address field has the value 400.

A processor register R1 contains the number 200.
Evaluate the effective address if the addressing mode of
the instruction is (a) direct; (b) immediate; (c) relative;

(d) register direct; (e) index with R1 as the index regist4e31;.44





Question 2:
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Specify the control word that must be applied to the
processor of Fig. 8-2 to implement the following
microoperations.

a. Rl —R2+R3
b. R4 — R4

¢ RS —R5-1
d. R6 — shl R1

e. R7 « input
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